SH6FEE
WHHEESHEAGRESMER (102 E)

SITOIANE

XAYGBIFRIL, PEHBARERERUNDEDEFNEESCHEENAHAH . T O—FEToEAXIEEAIS
HETH—RFAICRDBDEL. HERBICHAOLITE=ZE~DRBITHIZTHRAENIE,



BIER SH6FEE NMATELZERMEESEWHMER (E1EER)
f] A - KT By = B S % #

BRI 73,832,160 + 6, 007, 152 79, 839, 312
79, 577, 400 + 6, 188, 224 85, 765, 624 5,926, 312

EEAEE 73, 832, 160
79, 577, 400 5,745, 240

EERE 6,007, 152
6, 188, 224 181,072

IR 73,832,160 x 0.30 / (1 -0.30) 31,644, 463
79,577,400 x 0.30 / (1 -0.30) 34,106, 873 2,462, 410

RHBRE 79, 839, 312 + 31, 644, 463 111, 483, 775
85, 765, 624 + 34,106, 873 119, 872, 497 8,388, 722

—BEEES 111,483,775 x 0.35 / (1 - 0.35 )-7,787 60, 026, 225
119,872,497 x 0.35 / (1 - 0.35 )-3, 836 64, 547, 503 4,521,278

ES Lt 111,483, 775 + 60, 026, 225 171,510, 000
119, 872, 497 + 64, 547, 503 184, 420, 000 12,910, 000

HERFHELE 171,510,000 x 10.0% 17,151, 000
184,420,000 x 10. 0% 18, 442, 000 1,291, 000

RHERH 171,510,000 + 17, 151, 000 188, 661, 000
184, 420, 000 + 18, 442, 000 202, 862, 000 14,201, 000

LB REEE THR:EZER#




BERNRE THOFEE HATRZEHMEESHMER (F1RER)

% # Bk - BkhE B B B B & % i E
BRI 79, 839, 312
85, 765, 624 5,926, 312
EEEEMER 79, 839, 312
85, 765, 624 5,926, 312
REE T ES 73,832, 160
79, 577, 400 5,745, 240
EEEEMER 73, 445, 760
79, 178, 400 5,732, 640
1 EBERNES 12.00 6, 120, 480 73, 445, 760
A 12.00 6,598, 200 79, 178, 400 5,732, 640
T&aE 331, 200
342,000 10, 800
2 &t 12.00 27, 600 331, 200
) 12.00 28,500 342, 000 10, 800
- RE 55, 200
57,000 1,800
3 Wi - HE 2.00 27, 600 55, 200
) 2.00 28,500 57,000 1,800
EERE 6,007, 152
6, 188, 224 181,072
EBERRE 725, 184
782, 208 57,024
A EHBRRE 1.00 725, 184 725, 184
=t 1.00 782, 208 782, 208 57,024
EHREREE 1,450, 368
1,564, 416 114, 048
5 BERERRE 1.00 1, 450, 368 1,450, 368
=t 1.00 1,564, 416 1,564, 416 114, 048
ES s
1, 800, 000
6 EBHaHE
A 12.00 150, 000 1, 800, 000




BERNRE HHOEE WATEAFBTESSMEIE (51 LD

£ a3 R - BKTiE B B = B o | IS
XBRAEREENBLIUHERSE
1,911, 600
7T EERAEREEHEBLUELSE
E=o 1.00 1,911, 600 1,911, 600
RE 120, 000
130, 000 10, 000
8 RBARME 1.00 120, 000 120, 000
= 1.00 130, 000 130, 000 10, 000

LB Re%E TER:ZES£%




HKifiF SH6ERE WAMSEESHEEEHBLE (F1ELE)

RBRES : 1
KRB . BEEFHEBER 1A4Y
% L RiE - RTiE B B i} ® % mE " &=
EEREME B (A)
A 1.40 57, 000. 00 79, 800
B LR 6 (C)
= 1.00 6. 518, 400. 00 6,518, 400
& &t EE£8EH : 1.00A 6, 598, 200. 00 6, 598, 200
RBRES : 2
KRB : TEE 1mHY
% Ll RiE - RTiE B BB B ff ' % mE " %
EEREME B ()
A 0.50 57, 000. 00 28, 500
& &t YEEEES - 1.00[= 28, 500. 00 28, 500
RfRES : 3
RIEREH : 1B - |E 1mHY
% Ll RiE - RTiE B BB i} ' % mE s &
EEREME B (A)
A 0.50 57.000. 00 28,500
& &t YEERED - 1.00[E] 28, 500. 00 28, 500
RERES : 4
HifiR4H . EHARE X8y
% Ll RiE - RTiE BfL % B B ffi ' % mE " %
EHEARE
= 1.00 782, 208. 00 782, 208
& &t YEEBER - 1. 00X 782, 208. 00 182, 208
RfiEES : 5
HifiR%H . BEREARE B
% Ll R - RTiE i BB B ffi ' % mE ® %
BHEMERARE
= 1.00 1,564, 416. 00 1,564, 416
& &t YEEBER - 1. 00X 1,564, 416. 00 1,564, 416




i 4H6EE MATELEBTEEEAYES($10LE)
RIERES : 6
REBERET : EHEAEBE 1%y
% # s - IR A Bf g ER 2 = W =
EBREDE
=) 3.00 50, 000. 00 150, 000
=) it 1EX8EH : 1.00R 150, 000. 00 150, 000
RIERES : 7
RIEEEH : EBASBEEHE LUHSE ETT
% # s - R A Bt g ER 2 = W =
EBREBEAHP L UBRE mETHE (Z#%)
= 1.00 1,911, 600. 00 1,911, 600
& it 1EXEEH - 1. 00X 1,911, 600. 00 1,911, 600
RIERES : 8
RIEBREH : LBERESE ETT
% # s - IR A Bf g ER 2 = w o=
EBRERE
= 1.00 130, 000. 00 130, 000
& it 1E%8EH - 1. 00K 130, 000. 00 130, 000






